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23.

A,
B.
C.

24,

25.
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Which of the following may make it difficuit for oligopolists to collude to set price?

a large number of firms.

a standardized product.

high barriers to entry.

the tendency for collusion to lower joint profits in the long run.
licensing resirictions by government.

Which of the following is not a factor of production?

land

labor

capital

money

All of the above are not factors of production.

Which of the following statermenis about trade is true?

Unrestricted international trade benefits every person in a country equally.

People that are skilled at all activities cannot benefit from trade.

Trade can benefit everyone in society because it allows people to specialize in activities in which
they have a comparative advantage.

Trade can benefit everyone in society because it allows people Lo specialize in activities in which
they have an absolute advantage.

Joe is a tax accountant. He receives $100 per hour doing tax returns. He can type 10,000 characters per
hour into spreadsheets, He can hire an assistant who types 2500 characters per hour into spreadsheets.
Which of the foilowing statements is true?
A,
B.
C.
D.

Joe should not hire an assistant because the assistant cannot type as fast as fast as he.
Joe should hire the assistant as long as he pays the assistant less than $100 per hour,
Joe should hire the assistant as long as he pays the assistant less than $25 per hour,
none of the above.

If a new technological breakthrough in genetic engineering makes it possible te grow twice as much corn
per acte as had been possible in the past, the most likely result will be:
A,

a decrease (shift 1o the left) in the supply of corn, due to the increased costs

associated with the new technology.

an increase {shift to the right) in the supply of corn, due to the reduced cost of production.
an increase in the demanda for corn, due to the greatly reduced price.

an increase in quantity supplied, due to the increased willingness to sell comn.

a shift from comn production to wheat production, using all of the extra land not needed for corn
production,
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26.
If equilibrium quantity rises but equilibrium price remains unchanged, the cause is:

an increase in both supply and demand.

an increase in demand and decrease in supply.

a decrease in demand and increase in supply.

a decrease in both demand and supply.

an increase in demand in a market subject to a price ceiling.

monw»>

27.

As income rises during economic upturns, consumption of fast food declines, yet as income falls during
economic downturns, consumption of fast food rises. The most likely explanation is:

changing tastes for fast food.

negative income elasticity of demand.

very low price elasticity of demand.

very high price elasticity of supply.

high income elasticity of demand.
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Which of the following is most likely to have a high income elasticity of demand?
used children’s books. ‘

rented dwellings.

brown bag lunches from home.

bananas.

fancy clothing

instant noodles.
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29.

If the price elasticity of demand is 0.5, then a 20% price hike will lead to a;
5% drop in quantity demanded.

10% drop in guantity demanded.

20% drop in quantity demanded.

40% drop in quantity demanded.

100% drop in quantity demanded.

monwe>
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A tax on buyers is: ’

equivalent to a tax on sellers.

likely to be harder on the poor than a tax on sellers.

harder to shift than a tax on sellers,

easier to shift than a tax on sellers.

all of the above.

none of the above

METow e

3.
Which of the following statements is true of surpluses?
A. A surplus results whenever price is held above equilibrium.
B. In markets that are allowed to adjust, surpluses tend to be eliminated by competition among
sellers.
C, Surptuses result from binding price floors.
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D. A surplus is calculated as quantity supplied less quantity demanded.
E.  All of the above are true.

32.
Free markets tend to have which of the following social advantage? They:

maximize profit.

maximize the number of goods produced.

allocate production to the least-cost producers.
minimize consumer surplus and producer surplus.
maximize equity.

moowp

33,

Medical care is vital to our survival. From society’s standpoint, we should increase our spending on
health as long as:

anyone is sick.

we can afford it.

total benefit increases when we increase spending.

total cost is less than total benefit.

an extra dollar of health care spending generates at least a dollar in added benefits.

Mmooy

34.

Suppose that beer is taxed at a very low rate. If the government gradually increases the tax rate on beer, tax
revenues are likely 1o

fall.

rise.

remain unchanged.

rise initially, then eventually fall.

fall initially, then eventually rise.

moows

35.

If Taiwan buys automobiles from Japan, then in Taiwan:

' auto producers lose and consumers gain,

auto producers gain and consumers lose.

both auto producers and consumers lose,

both auto producers and consnmers gain,

after the market adjusts, netther consumers nor producers are affected,

mUowy

36.
The domestic price of sugar in Taiwan is significantly higher than the world price. This indicates that;
the domestié: market for sugar is experiencing high demand.
the domestic has a comparative advantage in producing sugar.
other countries are subsidizing their sugar unfairly.
other countries have a comparative advantage in producing sugar.
trade barriers are low in the world market for sugar.

moowp
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37.
1f the last unit of output produced at a paper mill has a value to society of $10 and a social cost of §15, but

the private cost to the company is $10, and the current price is $10, then the:

market is in equilibrium, but a lower output would make socisty better off,
market is in equilibrium, but a higher output would make society better off,
output and price are too low for equilibrium.

output is too low, and price is too high, for equilibrium,

ougput is too high, and price is too low, for equilibrium.

moQwe

38.

Diseconomies of scale result when:

diminishing marginal product occurs,

balling average total cost occurs.

output increases more than proportionately to changes in inputs,

increasing all inputs proportionately results in increasing Average Total Costs.

modern production technigues require larger numbers of workess, in order o take advantage of
specialization.

oo

39.

Long-run supply is more elastic than shori-run supply for the indusiry because in ihe long run:
costs are higher.

COsts are lower.

firms can enter or exit the industry.

firms can expand or contract the number of workers they hire.

none of the above,

"Tmoowpe

40. Monopoly results because of:
A, barriers to enfry into the industiry.
B. greed by the seller.
C. lack of interest by potential competitors.
D. inadequate regulation by government.
E. alf of the above.
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